What happened if the intestinal loop rotated only 90° in an anticlockwise?
Select one:

a. Appendix will lie in the right side.

b. Subhepatic appendix.

c. Transverse colon will pass behind the duodenum.

d. Appendix will lie in the left side.

e. Congenital volvulus.

(D)



What is the mean of tongue tie?

Select one:

a.Failure of development of the tongue.

b. Small sized tongue.

C. Failure of fusion of the 2 lingual swellings.

d. The tongue is adherent to the floor of the mouth....



8. What are the mean of macroglossia?
a. Failure of development of the tongue
b. Smail sized tongue
C. Failure of fusion of the 2 lingual swellings
d. tongue is adherent to the floor of the mouth

€. Large sized tongue..



The mucus membrane of the posterior one third of the tongue is derived
from?

Select one

a. Tuberculum impare.



47) The mucus membrane of the anterior two third of the tongue
derived from?

Select one:

A) The anterior part of copula of His
B) Tuberculum impare

C) The posterior part of copula of His
D) The middle part of copula of His
E) Two lateral lingual swellings



21. How many degrees of rotation of stomach?
a. 90 anticlockwise

b. 270 clockwise
C. 90 clockwise..
d. 180 clockwise
¢. 180 anticlockwise



3. -in the first few days after birth, failure of migration of neural crest cells
from neural folds to form parasympathetic ganglia (no nerve ) :
Hirchsprung's disease



16. Which of the following statements are incorrect according the
intestinal herniation?

a. The cranial limb of the intestinal loop brings to the right side
b. The intestinal loop rotates for 90 in an anti-clockwise

C. The hernia passes through gap in the posterior abdominal wall...

d. The rotation of the intestinal loop around the superior mesenteric
artery

€. The caudal limb of the intestinal loop brings to the left side



What happened if the intestinal loop rotated only 90° in an anticlockwise?
Select one:

a. Appendix will lie in the right side.

b. Subhepatic appendix.

¢. Transverse colon will pass behind the duodenum.

d. Appendix will lie in the left side.

e. Congenital volvulus.

(D)



8. What are the mean of macroglossia?
a. Failure of development of the tongue

b. Smail sized tongue
¢. Failure of fusion of the 2 lingual swellings

d. tongue is adherent to the floor of the mouth

¢. Large sized tongue . -



1.Ankyloglossia is
the tongue is adherent to the floor of the mouth.



46) What are the mean of microglossa?

Select one:

A) Large sized tongue

B) Small sized tongue

C) Failure of development of the tongue

D) The tongue is adherent to the floor of the mouth
E) Failure of fusion of the 2 lingual swellings



45) The rotation of the stomach is around?

Select one:

A) Obligue axis

B) Coronal axis

C) Vertical axis

D) Longitudinal axis

E) Antero-posterior axis



2. Anamoly due to the persistence of the whole vitelline duct??
A. Vitelline sinus

B. Vitelline cyst
C. Meckel’s diverticulum
D. lleal diverticulum



8. What are the mean of macroglossia?

a. Failure of development of the tongue

b. Smail sized tongue

c. Failure of fusion of the 2 lingual swellings

d. tongue is adherent to the floor of the mouth
e. Large sized tongue

35. All the following structures having mesentery except?

a. The transverse colon
b. The cecum

c. The small intestine

d. The appendix

e. The sigmoid colon



15. A mother has noted marked abdominal enlargement of her
three-days-old son without any passing of the stool On
physical examination his abdomen is distended. What
pathologic finding is most likely to be present in this infant?

Select one

a. Aganglionic colonic segment
b. Congenital bowel malrotation
c Cecal volvulus

d. intussusception

e Necrotizing ischemic coliltis
20. Bad odor from umbilicus due to? Select one:
a Vitelline cyst

b. Vitelline duct

C. Vitelline sinus

d. Vitelline tissure

e Vitelline fistula

47. The mucus membrane of the anterior two third of the

tongue derived from?
A . tuberculum impare
B . the anterior part of copula of his
C . two lateral lingual swellings
D .the middle part of copullaof his

E the nosterior nart of conula of his



